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Directions : (For Q. 1 to 6). Find out the total number of surfaces of the objec

FE9: (7.1 %6 % fr )1 F¥7 Srpta 7 Freted awg 4 aag) §1 e wew ww whw )
Problem Figure | Yo7 37t . v @ A

Part I / 9T |
Aptitude Test / etfirsfa wdteror

1

I;
2,
3.

(1) 13 (2) 14 (3) 15 (4) 12
4.

(1) 14 (2 15 3 1 (4) 12
N/Page 2
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(3) 15 ) 16

r Directions : (For Q. 7 and 8). One of the following answer figures is hidden in the problem figure,
in the same size and direction. Select, which one is correct 7

| Feor:(m7evs&fm) 79 7 sw anglad) 7 @ 0 pHia 9 oK fewn 4 g9 ®9 /
v gt @ fodt &1 w17 9 wel & g

Preblem Figure [ 997 STFd Answer Figures / 3¢ Sglaal

: // AN /

(1) 2) @) (4)

v J /) ©

<1 (2) 3) (4)
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Directions ; (For Q. 9 and 10).  The problem figure shows the top vicw of objecis, Looking in te 3
direction of arrow, identify the correct clevation, from amongst tie
answer figures.

Ao : (W 9310 & fAU)1 397 st & aegenl &1 F941 599 farn man €1 &k &1 fvn o $ad
BU I ArFEidl § | 9% G981 GHE 5V BT

Problem Figure /| F%7 STFld Answer Figures / S &Tf‘ﬁwf
1
— '
LSBT I
- 1
E L
[] O
¢ (1) (2)
)
1

A5 sl

@) @

10- SO ﬂlﬁﬂ H‘L\F'L =

(1) (2)

mir e [l e

' ' (3) (4)
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E

‘Dl'rectz'q;;g t (Far Q. 11 to 14). Find the odd figure out in the problem figures given below :
ATA B 14 FRm) 1 A9 g sy 7 @ e g @

o @) )

<)
\
27

@ () )
.-‘ 'd
4 \l—ﬁ Q—K .)—i
1) @ @) )
OOV J
o @) ®) @

Directions : (For Q. 15 to 17). The 3 - D problem figure shows the view of an object. Identify, its correct
top view, from amongs! the answer figures.

FEor: (%15 @17 & @)1 3- D 397 rla 4 v aeq &1 fe@mar 741 &1 5991 &1 591 539, I
st 3 | wEn

Problem Figure /| ¥o7 37l Answer Figures | S 3TFHIa9

i Ib

(1) 2 3) @
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Problem Figure | W97 30 Answer Figures / ST BTFfﬁﬁ'f
|
16. |
| g 0 [t [=d |
\_ | ~
) ) ) (4)
f 17. > = 1\__' R | l
! P, |~ / __/ / /

| (1) (9% 3) )

- Dircctions : (For Q. 18 and 19).  The problem figure shows the top view of an object. Identify the

: correcl elevation, from amongst the answer figures, looking in the
| direction of arrow.

facer : (W18 31719 & RAq )1 w7 sirgta 7 el &g 1 S0 w9 Fewrqn o 1 7R w1 faen §
é@ﬁﬂmmﬁ##mm'?wyﬂ?mﬁm
Problem Figure / Answer Figures / W W )
5 ST

@ -~ Y S

} M 2 o @
1
19. / \ ’_A_‘ |
| | L] LT 1]
T ¥ (2) 3) @
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1), flow many minimum number of straight lines are required to draw
the problem figure ?

7149 § 7% 99T SMFA I a7 F [ 9 G w9, ot Gl @it
&1 stV B2

L Fe

21 & 18 4) 19

{ the
1 the

12 (11 4) 10

i

e
Oirections : (For Q. 22 te 25).  The 3 - D problem figure shows a view of an object. ldentify the

correct front view, from amongst the answer figures, looking in the
direction of arrow.

3-D ¥97 snFia 4 U 9% ¥ UF gvF &) 1@ T g1 a1 @ e
7 3§, §9 9@ TEE g9 F IR piaal 4 & ey i
Aunswer Figures [ B’WW

I

Wdor : (w22 @25 & o)1

Problem: Figure /| 977 37&ia
TN

S

2. =]
(1) A2) (3) 4)
23. E! L[] T[] ‘_ ,_{
_ i @ ®) ® |
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Problem Figure [ H¥7 3TFId Answer Figures /| I W

D | ]
| @K:ﬂ ﬂu Eﬂ?

(1) (2) (3) N

.6 o @ @ 2

e @

|'| Drrectwns (Fer Q 26 and 27). How many total number of tHaﬂg g6 ~g'-"=-»’ "_f&tﬂn the problem figure
“ given below 7 ey :

| ﬁé’w (7 2 sitrar & w1 A9 @ e v gt A r %
L Problem Figure [ T& eyt f, § -“m ®

26.

~l]| | (1) 10 & 9 3 11 (4) 12

1) 11 | 2) 14 B3 12 (4) 13
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figure

| 28 to 30).  Which one of the answer figures is the correct wtivror image of the
problem figure with respect to X - X ?

‘ ,_"b%:%rc,r)f TR ATFHAT T T A AF & T 9T gt FX - X F garea
y gl Tdo Wiafae g 2 B
Answer Figures / 3 3-17@%237

A2) ©) )

(1) 2) 3) )
. | | 1 |
alliin | 5 i 1 |
X
(1) @ &) @)

Directions : (For Q. 31 and 32). The problem figure shows the elevation of an object. Identify the
correct top view from amongst the answer figures.

e : (W31 3T 32 & fow )1 v aghfa 4 farddl asq &1 TRy g9 Faarar 1 81 3T SEhal 7
# s T8 I ovT e
Problem Figure [/ ¥¥7 STIFTT Answer Figures /| I 3?@?/?!777

31. Ll ' | l—
_ @ ) @)

o) @ ) @
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Directions : (For Q. 33).  Which one of the answer figures will complete the sequence of the th
problem figures ? ‘

Feor: (w33 & frg)1  sav syfadl F @ @7 @ sugla & a7 9y sngtaql 7 o & 8
(sequence) ‘ZWB’}GIQ“W?

Problem Figures | We7 Uil Answer Figures | 30 SFiadl

- B Bl

@ (4)

Directions : (For Q. 34 and 35). Which one of the answer figures, shows the correct view of the 3 - D
(i3 problem figure, after the problem figure is opened up ?

Frer : (W 34 S 35 $,@)f 3-D ¥¥7 Y T @ W, SR Sl ¥ 4 wg g @ ar 2
1‘?' i

- .‘_'J"' \ oy
Problem Figure | 57 31 Answer Figures | I STgfaal

L
L
1]

. B AL W n

2)

HiE

LTI

LT

élllll

3

~
S

(4

—

[L1]
[LL]
]

[11]

35.% D GHD G G

1) ~(2) (3) (4)

[L111

LI 1]

LI
L]

—

N/Page 10 SPACE FOR ROUGH WORK / 1% @Td & fow wg




r-’, ; The way a surface looks and feels
.‘_t.'_; A solid colour
(3) A typeof shape

What secondary colour is obtained by
ymixing blue and red colours ?
¥ (1) Orange

{Z Brown

(3) Pink
(4) Purple

Which one of the following material
cannot be used in its original form for
construction of walls ?

(1) Laterite
(2) Granite

(3) Fly ash
(4) Basalt

39. Which one of the following is an odd

match ?

“A1) Shrinking Polar Caps - Earthquake
(2) Tsunami - Oceanic Earthquake
(3) Deforestation - Climate change
(4) Ozone layer - UV rays

40. Why do large industrial buildings have
high located glazing on the North side ?
J{1)—To get uniform shadow - less light
through the day.
@‘ Because the sun stays on the North
side throughout the day.
(3) To get bright sunlight throughout the

day.
(4)

To stop the workers from looking
outside.

36.

37.

38.

39.

40.

Togfa = €7

(1) & a7 W@

2) fou a® us wag fead «ik meye gl
2

@ B W

TF T F AFR

(3)
4)
e AR e W w A W faE @ s
71 (secondary) T @M ?

() =

) @

@) T
@) T

darl # FH & fau, freifes § S
yerd Sl e SR W TR T
a1 ?

(1) waEwE (FeE)

2) TR

(3) R T

(4) AR

freifera o @ i = 5E 1 @ ?

WeiTa 2t 1 fage -
AT - WERATRIE &Y

-9 ~ Searg IiEd
A B W4 - 731w

(1)
(2)
(3)
(4)
a< aiteifre saral ¥ o9 %) S@ fom F 3=
T U G4 e e 8 7

(1) @ i3 o aar fom o1 & a9 9
F fa

Hifs @smfcmid aufa o €

o et g ) 3 Tert T 3 feg

FH A el Bl AR GG | T &
ferg
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Which one of the following is a sound

reflecting material ?

(1)  Glass (1) ==

(2) Fabric (2) S

(3) Thermocol (3) umiEE

(4) Jute cloth (4) YZHA 51 HUL

‘ 42. Which one of the following is not a | 42. f=ifsd # @ -9 T=1a 54 78 @1 4
i matching set ?

Il {1y Egypl- Mississippi River (1) fa= - fagitad sfan
I ~ (2) England - 10 Downing Street (2) IS - 10 THET €ie
'i (3) San Francisco - Golden Gate Bridge (3) ¥ wifggas! - Meed 12 o=
| I (4) Washington - White House (4) T - RET THH
43. Lotus Temple in Delhi was built by : 43. fooeht = dew wf< foee w412
(1) DBahais (1) @A
(2) Muslims (2) afed 3
Bl 3) Jews (3) wfedi 3
.'! (4) Jains (4) w3

44. Who among the following is not an | 44. Wﬁ'ﬁﬁ?—ﬁlm?ﬁ??

architect ?

| (1) Hafiz Contractor (1) THW Flgad
| (2) Raj Rewal (2) T @@
| (3) Zaha Hadid (3) smeIEee
| _# MF. Hussain g;‘»,, TH.UE, g4
‘| 45. Which one of the following is not a | 45. fr=if&a 4 | FF-w =g 7 7@ @@ ?
matching set ?
4_1,)/ Jaipur - Canals 1) AR - Tal
(2) Udaipur - Lakes (2) AR - HA
(3) Sundarbans - Mangroves (3) F<@d - HAuE
(4) Varanasi - Ghats (4) AT - |
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lch one of the following is not an

arthquake resistant structure ?
Steel framed building
Timber framed building
RCC framed structure

Load bearing brick walls building

#e ‘Which one of the following is an odd
" match ?

E )
(2) Hot and Dry - Jaisalmer
(3) }Iot and Humid - Chennai
(4) Cold and Dry - Ladakh

Temperate - Shimla

Green architecture is promoted these days
because :

(1) It lasts longer

(2) Green is a good colour
(3) Itcosts less initially
/g\(ﬂ_),f It is environment friendly

49. Buckingham Palace is located in :

(1) Geneva
(2) Singapore
(3) [Paris

(4) London

50. Fatehpur Sikri was built by :
(1) Humayun
(2) Shah Jahan

«£3)
(4) Akbar

Jahangir

e —

46. fr=ifea gf=l 0 @ s yay fGlus 872

1 e E o g
2 v F ¥ A T e
(3) SELE. W B
(8) R UwT el € Y e g

47. TH W BH-T WA T TE @ ?

(1) wiraren (T emperate) - o
(2) e sl g - SR

(3) A ¥R N - 9

@) @ &R g - wignE

48. ¥ il wite aregeen =1 viieare fean i ¥
iife :
(1) T8 < 9am §
(2) T BT
(3) TH s A N wH 9 ®
@) TE AT F ATEE €

49. =feum Yo Fel g €2

(1) SHaH
(2) fempd
@) 3w
(4) dH

50. RARYX Hiwdl T AT o

(1) T3
(2) YESE A
3) iR A
(4) @AAFHER A

N/Page 13
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A

Part 11 / WIT I
Mathematics / TfUTd

51, If fx)=—"
1+

L f@)
= [ xg{x(1-x)dxand

J(-#8)

fia)
= [ glx(-x)ds
f(-a)

where g is not an identity function. Then

_ !
thé value of I_f is:

<) 1

52. If the point (p, 5) lies on the line

X

51. 3Rk flx)=

1+¢

f(@)
I = f x glx (1-x)ldx g
Ji-2)

fa)
L= | glx-xldxg
J(=a)

i . & 2
TRl g T T T T 8 @

¥

@ 1
@ -1

)

N | =

a3

(4)

52, afe f&g (p, 5) G & W fuq & 51 -8 &

parallel to the y-axis and passing through T 2 T Taray
the intersection of the lines 2(a? + 1)x + by + 4(a3 + 1) =d qa41
2(a?+1)x+by+4(a3+a)=0 and (@2 + 1)x —3by + 2(a® +a) =0 & Whode foig
a?+1)x=3by+2(a’+a)=0, then p is WY IRIE, WpTAHR -
equal to:
(1) 2a (1) 2a
2) 3a (2) 3a
@) -2 (3) -—2a
(4) —3a (4) -3
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Ly 7 -...fﬁcr

L e—

[he area bounded by the curves y2=12x
d x2=12y is divided by the line x=3 in

“two parts. The area (in square units) of the
W larger part s :

g
o
; : ; ®
p '(4) 15,

If z is a complex number of unit modulus
and argument 0, then the real part of
z2(1-%)

m 15 :

0
1) —2sin® -
(1) 51n2

(2) 2cos’

N

i}

14+ =

(3) CoS 5
-0

1= =

(4) sin 5

55. If the roots of the equation

1 [

= . _
x+p x+q r °T€ equal in magnitude

and opposite in sign, then the product of
roots is :

1
) -5 E'+a’)

53. Wbl y?=12x a9l x2=12y F &4 O &owa
I, W@ x=3 §W ¢ uwl § ¥ T g 99
T W1 &el (9 SHTEAl H) ¥

(1) 13%
@ %
G 47,
@ 1%

54. Afz ;U witmy & T foge AmiE 12 9

z(1 =
HIVIF 0 T, ~E1+z§warﬁrf‘ﬁwm%:
(1) -2 sin? %
(2) 2cos’ %

0
I + =
(3) cos 5

4 1- sin%

55. Afe G
1 ]
—wp’f“—'ﬂq—; % 7@ v § w9 € aan

fagda fa=i & ¥, & el F1 orEa ©

1) - = (pP+q?)

2
" A»F :
] 2 2 = -"'0(" . 1 % 2
@ -=@E-q) a4 -{ 0 @), 1 35 @) ey
22 2 LU@\W’) . ‘12",‘” lﬁ 2 ) (L'_/ %’
® @+ (o e Wh- e @) ﬁwjé% @S
1.3, 3 1 24 a2y At %
4 7 ®+g7) '%c (4) 7 PTHa7) Lk ¢/
Q2 o %’Q"' :ﬁ” U

N/Page 151
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1k : 56. ufe yFd dEmEl & "q=a N % o
56. If Sy = , keN, where N is the set of . B
0 1 1k B
Sp= J, keN %, @1 neN F fau
natural numbers, then (5,)" (S,) !, for 0 1 |
nelN, is : (Sy)" (Sk)—l% .
W), Sy, M S,
(2)  Sap -« ) San-
@) S x-1 G Sa+k-1
(4) Sy (@) Sy g
- = -
57. UKt vectors 7, b, ¢ are coplanar. | 57. TEE®REW 4 p, ¢ A E1 AT
—p o -3 .
A unit vector d is perpendicular to them. gfenr 4 1 W dmaa 1 Afe
- o " A A o —» — - A A A
i (7% Tl = @ U 15 4 28 PR W W P P R ¢
6 3 3 6 373
- - — - -
and the angle between ¢-and b is 30°, AT o AU p FAE BB 300, @ ¢
then ? is/are : 2/%:
—?+2?—2E —?+2?—.2£
t
0 [ ; 0 :
2§ -2+ k 27— 2] +k
2 2 -
(2) 3 (2) 3
27 + 2k 27 + 2k
—1 —2) + = —2 J &
@ * 3 3 Y=
A M M ~ A ~
2i# f=k 2i + j—k
3 () 3
-4
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2, log;q (2¥—1) and log,o (2*+3) are
¢ consecutive terms of an A. P. for :

exactly two real x

more than two real x,

no real x

exdctly one real x

afe

™

| 959, The locus of the mid points of the chords
of the parabola x*=4py having slope m is

58.

59.

x & foe mEl F Y log, 2, logy (2 1)
q4l log,  (2* + 3) T AHIGR g1 & 17 FAFE
e E?

@), x% Fuw @ Frfos wH & faw)
(2) x%ﬁﬁ?_mmnﬁ%mu
(3) x % et it sfersn W & foe 70
4) x%F Faw U awfas we F g

TEA x2=4py F Sl S @@ m g,
% 7wy foiged =1 fag vy

a:
pr (1) line parallel to y=mx, m=0 at a (1)  y=mx, mz0 % HAIGL @ ¢ a1 3Ed
distance [2pm| from it. 12pm| F1 T R 2
(2) circle with centre at origin and (2) U gu s faas &g ga fag g aw e
radius [2pm|. [2pm| B1
(3) line parallel to x-axis at a distance () UF T@IE N x-31% F GHIGL T 791 IH
[2p72u1| from it. 12pm| 1 g0 W E
(4) line parallel to y-axis at a distance (4) TFT@ES y-aﬁ&{'a?'ﬁm"cﬁ‘%mﬂm
|2pm| from it. |2pm| = G0 WE ,?
_ — 7
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60. A variable plane is at a constant distance

p from the origin O and meets the set of
rectangular axes OX; (i = 1, 2, 3) at points
A; (i =1, 2, 3), respectively. If planes are
drawn through A;, A,, Az, which are
parallel to the coordinate planes, then the
locus of their point of intersection is :

1,11 1
| 1,11
M 2 TFTIP

@) ¥ +x5 +23=p

1 1 1
B

1
X1 X X3 p

1 1 1 1
=t =
(4) xl2 x% xg- p*

61, Consider the differential equation,
ydx — (x + };z)n'y = (),
value 1, then value of x when y=41is:

If for y=1, x takes

1 36
@) 64

%
4) 16

62. Let f(x)=|x~x;|+|x~x,, where x, and x,

are distinct real numbers, Then the

60.

61.

62.

T W WA g O | U S --‘:'-; .
wa & R gmeifE fduial & @ T
L, 2: 3) q"b‘ ﬁ-;fga'ﬁ Af (l =1, 2, "'-:-'.i"

OX; (i = _
A Tiaeoe F@ E1 AR Ay, A, Al
eyl Tl & Auial gaad d@is wa &, 6
% o g w fag wu

1,1 .1 1

—t = =
O ¥R

(2) x? + x% + x% =p2

1, 1 1
® %

X
Xy %% 3 7

— o =
S N

AR FH®T ydx — (x+y2)dy=0 T
faam #ifow ) AR y=1F fergx s A7 18, |
My=aFfagxwmmamg: -

(1) 36
2) 64
@ 9

@) 16

TA fix)=|x—xq|+|]x—x,| ¥, T x, T x,
fafis arfas ded €, @ 37 figedi =1 9=

g;cl%- (e yHdy =0
dr=Gdr= L+
=\ _

Q;a

- -

- 2y, I

i

number of pointsat which f(x) is minimum, o7 W f(x) =1 9 A T e
is:
1€ 3 (1) 3
(2) more than 3 ) 39 i
(3) 1 @3 1
(4) 2 (4) 2
. N /Page 18 SPACE)FOR ROUGH WORK / T% &/ & fag w7e

g MR
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M,

"ii'l‘_lf'- a circle has two of its diameters along | 63. afe uw Rl F T I\ Tl x4 y=>5 d4l
807 the lines x+y=5 and x—y=1 and has x—y=17% srfen ¥ aq foma 89wa 9 &,
NF area 9w, then the equation of the circle is : T W g9 T GHIEA ¢

(1) x4y’ —6x-4y+3=0 (1) X?+y*-6x—4y+3=0
-2 P —6x—4y+4=0 2) X?+y?—6x—4y+4=0
B) x?+yi—6x—4y-3=0 (3) x+y?—6x-4y-3=0
(4) x*+y’—6x—4y—4=0 @) ¥+’ —6x—dy-4=0

Suppose that six students, including | 64. 7 ®: faenfea, ﬁﬂ?ﬂ'ﬁ!{ a1 g Wi

‘Madhu and Puja, are having six beds g F ™ w iR ¥ wufew v faer €
arranged in a row. Further, suppose that 3ﬁ“€'ﬂ§. w%#m qre ﬁm?ﬂm, al
Madhu does not want a bed adjacent to foram atten] @ 9% faer famial =) fgg
Puja. Then the number of ways, the beds TFA T, AR EE ¥
can be allotted to students is :
(1) 600 (1) 600
(2) 384 (2) 384
(3) 264 (3) 264
(4) 480 (4) 480
1 a b 1 a b
65. In a AABC, if |1 ¢ a/=0, then |65. U& AABC W, afge |1 ¢ o=0 2
1 b6 ¢ 1 b ¢
sinA +sin’B +sin?C is sin?A +sin?B+sin?C ¥ : \
s lé"

1 2 (1) 2

33 5y S «;ﬁ
@r = @ 5 YA

9 85& 9 ) , )) C _ »L)

\@/; \‘ . (m + L{ f(’f 4 ,:i}/‘

5 | i’{ !TH

@ 3

5

0 Luleie g,
N/Page 19 SPACE FOR ROUGH WORK / 1% & & 1%11{ e
O - [ome;l,-t[oe.:xz,lf :

/(") YR 2

/"f( 7
é%m‘)‘;_{_‘fzzwcﬁmt 2 rﬁx‘i/\ }’\s
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Let I? be a point in the first quadrant lying
on the ellipse 9.1"2'@-'16!{2:144, such that
{he tangent at P to the ellipse is inclined at
to the positive direction of

66.

an angle 135°
x-axis. Then the coordinates of I* are:

R
| W \a ]
[
| (16 9)
| %z
| (2) \5°5)
Ji43 1
H ) [r 3 4]
L 8 77
l} @ 1973
I
I -4 =2 _ o=
:'li 67. If the lines : T Y 1 3 : R
f X + 2 z
1 .=~ intersect each other, then
l \ lies in the interval :
" 1y (11, 13)
@ (9. 11)
[3] {_5, _3}
(4) (13, 15)
y

66.

e p, e =gt = i foig & S el 5
9+ 16y =14 W frga § aw & 90 P
fafg 12w el 7w T 3] T VAT
S B T 1350 F EI0 @A § @ P
i T d

4 3
() [J’z’ J‘E)
o [18 ?)
@ 155
‘Ji43 1
(3) L 3 E]
(& 47
W |93
. .\‘—‘I_=y—2=-z__—__
67. fc @ 1 : 3 adl
-’{4-52—2= zwmﬁéﬁﬁ,ﬁhm
st e B, 9w
1y @1, 13)
2 (9 11)
@) (=5.-3)
@) (13, 13)

(1+x)59%ﬁmmﬁm 30 7al % x H

68. Sum of the last 30 coefficients of powers 68.
of x in the binomial expansion of (1+ x)*? EXpcacai g 5
18 Q _wrff
(1) 959 — 229
-4 -7%_:_(_2;—.2'(\ (2) 258 ‘
Y - 4 2= =
Y2 _Z ® 2
rm 4 (4) 2%
SPACE EORROUGH WORK / m‘imrd % g s
&S i 20 ) kY7
> . 'fi'ff EtT g = L
%y 2 6 39
6 .94 .rh




/ (1,¢
(e ,)
o (o)

Statement1: (p > g) > gv~pisa

69,

If j 5 sir_» X = ﬂ:’ + C , then | 70.
P()*: x sin’ 1 cos” X

fix) is :

(1) cotx

(2) —cot x

(3) —cosec x

(4) cosec x

Let p and g be any two propositions. 71.

fi)=|x log, x|, x > 0 o8 Faue ¥ usfee
FETA R, AT E
(1) (1.9
(2)  (e,»)

5
@ (07)

1
(4) [;‘ ¢ 1]
fe J 1-5 sin® x - f(x) £C T A
cos® x sin’ x cos® x ,

f(x) TR :
(1) cotx
(2) —vcotx
(3) ~—cosec x
(4) cosec x
| p Q41 g HIE A F

Eﬂ’ll:(}:—);;)ﬂ:}v-—p@ﬂ?ﬁﬁﬂ%l

tautology.
Statement 2 : ~(~pAg)A(pvg) o pisa HBUA2:~(~pAag)A(pvg) & pT&E I
fallacy. Bl
(1) Statement 1 is true and statement 2 (1) 9414 § 991 F97 2 F9A )
Bl T is false.
(2) Statement 1 is false and statement 2 (2) HYT1HATA % 99 U 29 ¥
is true.
/LZ) Both statement 1 and statement 2 are (3) HUT 19U FYA 2 G
true.
(4) Both statement 1 and statement 2 are (4) HEA 1T FEA 2 il sree
false.
N/Page 21 SPACE FOR ROUGH WORK / T% &4 & fou wmig &_,a:{v}
F(M“ “loge L w o S Mﬁ:fc
Co3on [ 5 =
F/‘cx =X/t Lige b 400 — . (S
W, TR IE =
) - .
L, © ‘@2




72.

73,

74.

37
Let -—4—- <0< and

1
\jz cof 0+ 3 =K=—rcol 0
sinco

then K is equal to :

1y

2) 1
(3) -1
4 0

A vertical pole stands at a point A on the
boundary of a circular park of radius 2 and
subtendﬁ an angle « at another point B on
the boundary. If the chord AB subtends
an angle « at the centre of the park, the
height of the pole is :

.o
2a sin— cota

(1) >

(2) 2a cos% cota

(3) 2a sr‘u% fana

Qa
2a cos— tano
(4) :

48 47 46, 2 1
48.49 49,50
1
v 50 ], then

K equals :

(1)
(2) 2
3) -1

72,

73.

74.

- L e —

3!' s
1:n:n~4— < < g A

1 "
\/2 cot 0+ = K—vcot b T
sin o

K FUaER T
M Y

@) 1

3y -1

) 0

o 51 910w g U w1 i w e
fig A W & TR @ el § S ufEim
F UH w4 fag B W &0 « Faf@ Fw@ 2
Afe Sfta1 AB g4 U F g W H o Hafld
A &, Gl E@e B SR R

(1) 2a sin% cota

(2) 2a cosg cofa

.o
3 2a sin— fane
3) 5

[43
2n cos— lane
@) 5
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iy

'q ‘ _E i
o If f(x) = (x—-p)(x—q)(x—r1), where | 75. 7fg fix)=(x—p)(x —q)(x —r) 2, 9§l "
i/ p < q <r, are real numbers, then the p < g < rarafas #Ead €, @ f W@ &
application of Rolle’s theorem on f leads THE % eyEm 4 fae ©

i :
(1) (p+q+nr2<3@qr+rmp+pg) (1) (p+q+r) < 3(gr+rp+pq)
(2)  (p+q+nigr+rp+pg)=3 (2) (p+q+n)Har+rp+pg)=3
(3)  (p+g+ni=3(gr+rmp+pg) (3)  (p+q+n?=3(qr+m+pq)

4) (p+g+rP> 3(qr+rp+pg) (4) (_:uw+qf-l-r):"1 > 3(gr+rp+pq)

1 A 1

— if |a] >2 e g x| > 2
Let fim={ I . 76. WAl f(x)= x|
a+bx? if | <2 a+ b TR|x| <2
then f(x) is differentiable at x=—2 for : A x=-2 T fix) e ¥, aft
M a=%andb'—"-'—]]—6 (1) a=%'€[2ﬁb=—%
3 & 2 PO B e
(2) auzandb—w (2) @ 462111; 7
- 1 _3 s L
(3) awzandb— %— , (3) :z--iﬁﬂﬂb— 16
. el _ e L=
J) a——zandb-m (4) = 4?1'211! 1%
77. Lel_f'(x)=(x+1)2-l, xz —1, then the set | 77. HMI flx)=(x+ )2-1,x2-1% 2, @ wH=d
[ fx)=f~1(x)) : fx : flx) =/~ 1) -
(1) contains exactly two elements (1) W ¥ad < wE9d ¥
(2) contains more than two elements. 2) A afw sema €
(3) is an empty set : (3) U = w=d 2l % C?] }
{4) - contains exactly one element (4) ¥ Fo@ T 99 1 d“:;---___
- ‘\I/Page 23 SPACE FOR ROUGH WORK / rg;rd & fg e ) - 34
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78. 1f the mean and the standard deviation of | 78. 32 10 Y&Vl r, x,, ..., x,, 1 WA TG0
10 observations xy, x,, ......, Xjpare 2 and 3 uHe fadgds 49 2 491 3 g, @ iR
respectively, then the mean of (2 1% (.1-2+1)?, R e D D B L S R
(xy+ D2 (4 1) o {xqp+1)* is equal T
to
(1) 16.0 (1) 16.0
(2) 18.0 (21 18.0
(3) 13.5 (31 135
4) 14.4 4) 14.4

79. Let N be the set of natural numbers and | 79. THAT N WA S0l 51 A= § a4l aeN &
for aeN, aN denotes the sel {ax : xeN}. ferm aN =2 (ax : xeN} zZwtm &1
If BN n ¢N=dN, where b, ¢, d are natural e bN A cN=dN 2 T& b, c, d 1T =E
numbers greater than 1 and the greatest Wigd HEA € a2 bl ¢ %1 HEwH WS
commof divisor of b and ¢ is 1, then d 18 MdamR ®;
equals :

_1) be (1) be
(2) b+c (2) b+c
(3) max|{b, c| (3) max|[b c}
(4) min|[b, c} (4) min|b,c}

80. A Dbiased coin with probability | 80. T& sfvra gz, foud faa am #1
p, 0 < p <1, of heads is tossed until a head wifaedl p, 0 < p < 1%, & % S 57 &,
appears for the first time. If the probability ¥4 a% fa vedl an faa 7 sn s afe 9@
that the number of tosses required is even g UAEl F1 @@ 99 B #1 wifawan
is%,then p is equal to : %%.?ﬁpwgl
® Y n
@ % @ %

1
G )b @ %
@ % @ X
000~ -00o0-
N/Page 24 SPACE FOR ROUGH WORK @i & fag s~
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iparate’ wing Sheet chh is also placqp:zd inside

a Test Booklet, Marks allotted to each question are

~ written against each question. For each incorrect

response in Part I and Part 11, one-fourth (%) of the

total marks allotted to the question would be deducted

from the total score. No deduction from the total score,

however, will be made if no response is indicated for an
item in the Answer Sheel.

2. Handle the Test Booklet, Answer Sheet and Drawing
Sheet with care, as under no circumstances (except for
discrepancy in Test Booklet Code and Answer Sheet
Code), another set will be provided,

3. The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to be done on the space provided for
this purpose in the Test Booklet itself, marked ‘Space
for Rough Work'". This space is given at the bottom of
each page and in 3 pages (pages 25 - 27)at the end of the

" booklet.

4. Each candidate must show on demand his/her Admit
Card to the Invigilator.

5. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seat.

6. On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Aplitude Test and Mathematics-Part |
& Il and Drawing Sheet of Aptitude Test-Part 111 to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case, The candidates are also required to put their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Boaklet of
Aptitude Test and Mathematics - Part 1 & 1.

7. Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) is not allowed.

8. The candidates are governed by all Rules and
Regulations of the JAB/Board with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations
of the JAB/Board.

9. No part of the Test Booklet, Answer Sheet and Drawing
Sheet shall be detached/folded or defaced under any
circumstances.

10. The candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

11. Candidates are not allowed-to carry any textual
material, printed or written, bits of papers, pager,
mobile’pltone; electronic device or any other material
except the Admit Card inside lhe examination

'§ hall/room.

10.

11.

mmwmmmm )
mmwaﬁm?nmlmﬂmn e 7
gav % fou 30 we & foy fvifa 5= =5 4 3 g
wiend (V) si% Fa dm § A w2 fau s 9fz s
w31 ¥ el wvA w e Feead fem €, @ ge Am A
B FY 3 7 e Q)

qiten s, IW UH T gEN v T AEEE wan
&, wifw fmdt of fifeafe ¥ (Faa v gfam @
I A & Fg F fem =1 frafa 71 gest) gad v
e syerey 7€ Had! s |

qiimfeldl 1 Se @ W wE W s = 7 foaE w5 e
T &l Al 81 & | Al O TS TR W wm, Tl
gfeqa # Fvifa s < % 1w F fow SR gR
FifeHD €, WA fomar s | a9 e voE 78 WA #
AT Fam & A A3y (g 25 - 27) RAEE

. B M W YaE wad fiaw | awm wan w8

femmi |
sefiere  Frders =1 favw armfa & fam o whanef
AT TEH A VI | 7
qitan @EW® w4 W, uaef fAiwes’ %1 aH
sfvefa gl - i 1 od nfor - ST SR T
aAfireta wliam- v [ &1 3R vie 95 o Iufefa
W AT TR QAR F F YvEr € T T o
THI A F T Fg 7 A 5 550 73 @ R e @
witere e ¥ Ford srfaa e waim 1 Soft § wen s
Qftemeli 27a7 &l 7y & IS & frems sufrfaus @
fau U e Ut srava womd ) qenfu, g s
srfrel witeron uE for - s 1 uE 11 e g F
AT EFA LI

oA/ eeratad ufmas M g summ (9)
T, HITE TfE) o v afsfa 1

witsm T | 2w & fae wianeff 3.q =, /4 F
wd fafml gro frafim €1 srfaa wrgm wam & adt
Aet w1 een 9.3, /41 & fradi wd fafael & sqen
B

fasit ot fedfa A wdan gfes, 3 v @ g0 e =
g um 3 @ erEm few s ek 5 € e s
s famgt s

wien Ifta, I T3 U9 g vite # € 7 yiten g
W 1 Wend 98 T 4 wfsd v A o fad
witgmeff gro wlten ge/wg ¥ waw g & faam
fedit wenre =t v TR, s arn getatea, s
i ufear, U, dangd Wi, JeaiE S9H T 3
ot 21=a WeRTT ! IR ST & AT AT A A 1

s 1l ¥
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